lin. measur. for Dev 4 (HEC BB96, 1s1), slot: 8, Run no. 1
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lin. measur. for Dev 4, slot: 8, Run no. 144

output voltage [mV]
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lin. measur. for Dev 12 (IHP, 4b2), slot: 1, Run no. 1

output voltage [mV]
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input current [pA]



lin. measur. for Dev 12, slot: 1, Run no. 144

output voltage [mV]

3.5

—— 20 MHz HEC

— 40 MHz HEC

80 MHz HEC .. ............

0 100 200 300 400 500
input current [pA]



lin. measur. for Dev 13 (IHP, 5n1), slot: 2, Run no. 1

output voltage [mV]

input current [pA]



lin. measur. for Dev 13, slot: 2, Run no. 144
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lin. measur. for Dev 14 (IHP, 5p1), slot: 2, Run no. 1
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lin. measur. for Dev 14, slot: 2, Run no. 144

output voltage [mV]
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lin. measur. for Dev 16 (IHP, 5b2), slot: 2, Run no. 1

output voltage [mV]
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lin. measur. for Dev 16, slot: 2, Run no. 144

output voltage [mV]
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lin. measur. for Dev 18 (IHP, 6p1), slot: 6, Run no. 1

output voltage [mV]
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lin. measur. for Dev

18, slot: 6, Run no. 144

output voltage [mV]
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lin. measur. for Dev 19 (IHP, 6b2, p-type), slot: 6, Run no. 1

output voltage [mV]
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lin. measur. for Dev 19, slot: 6, Run no. 144

output voltage [mV]
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lin. measur. for Dev 21 (IHP, 7n1, n-type), slot: 7, Run no. 1

output voltage [mV]
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lin. measur. for Dev 21, slot: 7, Run no. 144

output voltage [mV]
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lin. measur. for Dev 23 (IHP, 7b1, p-type), slot: 7, Run no. 1
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lin. measur. for Dev 23, slot: 7, Run no. 144

output voltage [mV]
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lin. measur. for Dev 25 (Triquint, 3tl), slot: 3, Run no. 1
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. measur. for Dev 25, slot: 3, Run no. 144

output voltage [mV]
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lin. measur. for Dev 26 (Triquint, 3t2), slot: 3, Run no. 1

{10 —— m ............................. m ............. — 20MHz = |e W:sss:s:s:@:
: : — 40 MHz :

T [ — — L.

output voltage [mV]

80

60

40

400 600 800 1000
input current [pA]




lin

. measur. for Dev 26, slot: 3, Run no. 144

output voltage [mV]
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lin. measur. for Dev 27 (Triquint, 3t3), slot: 3, Run no. 1

output voltage [mV]
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lin. measur. for Dev 27, slot: 3, Run no. 144

output voltage [mV]
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